Vol.26 No.1l 2004

-603-

1 1 . "
5.5m/sec 0.1
0.3(z/m* hr mmHg) ASR
O CD
" -
ﬂ\ 30
150
-1
Ap (dq/dP),
(of
a
]
l
-1
) -2
drP
J= A1.S-(— 1
pS-( dn) (1)
J (g/hr) S
(m®) Ap (g/hr m mmHg) P
(mmHg)
2. D P RH
100
*1
*2



(e

50

7.5T¢

237+T¢
px _ 6.1078 x10 3) S SK-80P4
1.3336
P’ (K)
(mmHg) RH
(o) T ) -2
(1) A, (dg/dP)p -3 4
2)
dq, OP dq
(5)p(5) = V(4 VP) = (=2 4)
dP™ " ot dt
-1
wic| st |Air| sa (kg/m’)
o) [(em)[(o)] )| w | cCc|s]| G| ad
oP 30 [18.0]3.8[44.2[132]440]840] 1060] 22
—Ap—=a(P-PF) 5) 45 | 1.1 |5.1]42.1[156 342 {760 [1046 [1.37 >
on 57 |48 [7.5[43.0 [180[316[851[ 926 [3.16 °
3 65 | 8.0 |4.5[44.1[189[292[770[ 976 [0.73 *
q (gm’) (dq/dP), 1 AE 2 AE
(g/m3 mmHg) (dq/dt) 9
(g/hr m’) t (hr) «a Wic
/m* hr mmHg) P, & 1( ) 20( )
43 28 20 - 20
(mmHg) 2 i
7 ; 155 80%
2 20 - o
S s e
150% 150% 150
% 0.006 , , , ,
-1 10 3 T
50 ® 10 £ o0004f |
£
& 0.00%, .
1 [
) %20 a0 60 80 100
(%)
20 -3
2 e
T
g
E
1 £
20
-1
(%0)
57 -2 -4
4.
Q)
3 AQ t

~604-



)

AQ=S-a-(P-P)-At

S
(g/m* hr mmHg) P
(mmHg) Py
5.
5.1
-5 8 20
-5,6
-5,7
-5,8
5.2
-9 12
-9
-9
a =0.1
a
50
mmHg)
-11

2

(©)

(m’) a

(mmHg)

(5)

0.2(g/m* hr mmHg)

-10 50
20

0.1(g/m* hr

0.2(g/m* hr mmHg)
5.5m/s
0.1 0.3(g/m* hr mmHg)

10 T T

100

®® oowes cove o o‘.

(%)

80 T
60

40

20

woen 2t 7]

-80

(2

W/C:57 )

100

e aeowes ccee o .

%)
g =
]

- 60
=40

-80

-20

7080 90

W/C:45 )

100

(%)

—80
60

40

|
)
-8
(W/C:57 5.5m/s)
B0 2.5 :
= o WiC=30% |
g O W/C=45%
g 2o wic=s7% 7
v WIC=65%
g 150 ¢ 5
Ng 17 B
e/b o O v
0.5+ Salie vy
e CSEE@ o ' w
0 L @\. DJ%\. wy,_ve ‘V
40 50 60 70 80 90 100
(%)
-9 (20 )

-605-

-12

—_
)
=

(&)



2.5 : :
T )
& 2r O wic=s ]
2150 .
& 1 |
e = |
0.5+ O L
SHa 2
e s sl T2 ge00%
40 50 60 70 80 90 100
(%)
-10 « )
25— : : :
E O WIC=57%
g 2 ® WIC=57% 4
= 150 [m
(\lg 17 ]
& u] .
e e
( 1] 1
NI 3 s 3OO
40 50 60 70 80 90 100
(%)
-11 ( )
§§25 —
=) O wiCc=57%
g 21 @ WIC=57% 5.5m/s 4
£ 15) e |
o 17 |
& . .
0.5 oo ﬁﬁﬂ i
o ® ‘Eﬂ; M.
O 1 1 1 1 1
40 50 60 70 80 90 100
(%)
-12 « )
5.3
-13
a Ap (dg/dP)p
-14 W/C=57
-15,16
a =0.3 12 g/m® hr
mmHg
-14
30 50
50
-15 0.3 g/m’ hr

mmHg

60
-16

12 g/m* hr mmHg

-14 16
100%

30

50

0 20 40 60 80 100

[ © - 50mm
20 & - - 30mm -
| O — 10mm
0

010 20 30 40 50 60 70 80 90 100

[ © - 50mm
20 & - = 30mm -
| © —_— 10mm
0 L L L L L L L L L
0 10 20 30 40 50 60 70 80 90 100
()
-15 : (a 0.3)

-606-



opo

0 I

50mm
30mm —
10mm

0

-16

1020 30 40 30 60 70 80 90 100

()

(a 1.2)

10@50=500

90@100=9,000

| 10@50=500

=2,000

40@50

b

D25@400|

-mm

-17

6.
6.1

-17
4000mm

(dQ/ dP)yp

o =03

(dq/dt)
-3

10000 x

-3,4

-13
g/m* hr mmHg

-607-

-4
CEB-FIP MODEL1990

Cen = 8s(fcm)ﬂRH (7
e Ccso u
B RH € s(fcm)
f. (28)=36.5 (N/mm?)
3)
10x 10°(1/ )
0.16
-3
KI/kg 0.92
ke/m’ 2300
W/m 2.32
W/m’ 11.6
Q. 474
G v 1.30
-4
23.0
20.0
% 50.0
150
6.2
-18 19
-18
2 3
20 -19
10 55%
50
a =0.3 g/m’ hr mmHg
50
50mm
-20



100—— 10

80/ i =
Feo i §
601 Y 4
BN
4()@\ i r (
201 ——— 20l -.- 50111121(5(!:0‘3) ) i
] | A& 50mm(a =0.3)
’ 0 100 130 O30 100 150
()
-18 -19
a
-19 a
-20
( )

3) 50 20

(4)

(5)

7.
1
(1) Vol23 No.2 pp.685-690 2001
2

100 70
pp.274- 278 1961
(2) 3 11
pp.34-35 1999
4 CEB CEB-FIP MODEL CODE 1990 pp.57-58
0.1 0.3(z/m> hr mmHg) 1990

-608-



